fereper fararmor
8 (Sales Variance)

fas/ases foasn wd ardfas fasnl & =) &1 faspa fa=ot (Sales Variance) 34 gl
fesra feracoli &1 UM A R Freafafaa < ol s = S §—

(I) fos73 9sfd o fasha god 9sfd (Turnover Method or Sales Value Method)

V(II) Y g foaspa 39T 9 (Profit or-Sales Margin Method)

() Tersrar uegfa ar fasma gor ugfa
(Turnover Method or Sales Value Method)

I SAEEITS T had ThH IR H1 [ HT H ® Al o o fan ()
fasra Ufer fa=Xor (Sales Value Variance), (ii) fasr oI fa=ioT (Sales Price Variance),
- TH (iii) forFa A= fG=ROT (Sales Quantity or Sales Volume Variance) 1 TUHT &1 56
2| A ST e < 9 1 Q ot SRl W T S S 91 fama W A §
Syl (i) foswa g fa=wor (Sales Mix Variance), @9 (ii) faspg Sq-weEn fa=tw
(Sales Sub-quantity or Sales Sub-volume variance) sl %t TUET 1 S R

(1) Tasma ufyr faemor (Sales Value Variance)—aSies (@@ fuif@) fom ¥
T At foRg Ul % de S oo g @ S8 faspa i foarer wey 31 Sl



Vari =
Sales Value Variance (SVV) = Actya] Sales (AQ x AP) - Budgeted Sales (BQ x BP)
Or

frerar (o ideeted Sales (BS) - Actual Sales (AS) :

'( 2()14?3? (}? Sold) % ey pos YariancesiSPY) e ) e A &
@ 5 T % WA o ger (SP or BP) T
-Wﬂﬁ%ﬂgqﬁ(“) TR F T 0 9 A P A A G

Sales Price Variance (SPV) = AQ Sold (AP — SP or BP)

Wu‘ﬁmmwﬁmﬁmﬁmmwaﬁmﬁmmp>w
o BP) I I STTFS T (F) =l S &1 55% fordi s SP or BP 4 e H AP
ﬂaﬁﬁ%ﬁﬂﬁﬁm (A) 7T T R

(3) Tersh T HEAT fereruT (Sales Volume/Quantity Variance)— et
) T T T 5 S 3 T 1 B o e o A
Teqa Ll 2l ‘ '

Sales Volume Variance = (AQ Sold - BQ or SQ Sold) x SP or BP

mmmﬁmm(SQorBQ)ﬁmﬁmﬁmﬁmeWaﬁm
(4Q > SQ or BQ) B W 3TqRer fa=Rw1 (F) A1 Stwn & wafF AQ < SQ or BQ 8 W
gt IR0 (A) HEA ST 1

Verification:

Sales Value Variance (SVV) = Sales Price Variance (SPV) + Sales

Quantity/Volume Variance (SQV)

(4) TR TisToT =T (Sales Mix Variance)—&eiifad asice/sAN faswa wm=
(RBQ or RSQ) Td Irifaeh fashd AEN # SRR & HRU I e ard fereror 1 fom
fag) forroT e B

Sales Mix Variance = (AQ Sold — RBQ or RSQ) x SP

Or
(RSQ/RBQ - AQ) x SP : ‘
7% AQ sold, RSQ or RBQ 3 it &1 a1 forerot SIyget (F) ¥ wiafeh %9 8
oo wferet (A) B
Revised Budgeted Quantity:
Budgeted Sales Quantity of Particular Product x Actual Sales Qty of all products
Total Budgeted Sales Quantity of all Products

(5) fasma Su-wmm fa=wor (Sales Sub-Volume/Sub-quantity Variance)—3&
R we e fag W G4l SOE YA R W (RSQ)/ANfG e foha
B ¥ SR % HR0T 39 el ¢ |

Sales Sub-Volume Variance = (RSQ/RBQ — SQ/BQ) x SP
Or

(SQ/BQ - RSQ/RBQ)r X sg RS 5050
A e aa fERd 5E (BQ/SQ) & RSQ/RBQ 31H & (R > _
i'm“gﬁ fa=or (F) 9o %9 g1 W (RSQ/RBQ < BQ/SQ) @ Mfige e (A) WM
|

Verification:

Sales Quantity Variance (SQV) = Sales Mix Variance (SMV) +

Sales Sub-quantity Variance



(IT) ST 279l farehar SuT= Tegiel
(Profit or Sales Margin Method)
o @nﬁﬁﬁa%mﬁmm%mnmwﬁﬁmmmw
- S S THE T (Profit) el fiFa I (Sales Margin) #1 3new
S SR R W (fasg Sur) @ aReer w1 B S g e o e ¥ | sy
YT AR W SR ThE WA o (o o S) T A S T A
o T o A Wiy g T R e R T anafas @ (At 656 3u)
ﬁmaﬁm%lmﬁfa%mﬁaﬁmﬁﬂmﬁmmaﬁmaﬂm%—
1. et = fereror arerar et fersha SUT=d farerwoT (Total Profit Variance or Total
Sales Margin Variance): $&1 drqfash ¥ 1 TR Actual Profit T8 F@ 9T @y
(Budgeted profit) %t T & 3T 1 Fo1 @ freron staa FA fara I fa=mor #3
HE R
Total Profit (Total Sales Margin) Variance = (AQ x AR) - (BQ x SR)
Where,
AQ = arfas fesRT /AT (Actual Quantity or Units of Sales)
AR = Wi 3¢ arsafas o (fasra I9=) & = (Actual Selling Price per Unit -
Standard Cost Per Unit) i
BQ = wwies (@ fruffta) faska Am
SR = %1 3%t wu v (faa S9) = Standard Selling Price per Unit -
Standard Cost per Unit
2. (fasa 3utr ) X fa=ur (Profit or Sales Margin Rate Variance): F&
fosr SU FreROT (el @) FereRon &1 9 A S S g WA @ (T sum)
= T Wi T arefoe @ (FERT SUR) W H ST AN F R0l I B R
®q H: '
Profit Rate Variance (Sales Margin Rate Variance) = (AR — SR) x AQ
3. o7 (fasRa 3T ) ATAT fareut (Profit or Sales Margin Volume Variance):
Fo foska 9= (A W) fo=Ro] H1 9% WM S gwies fama Wl (3EEd) @
St g e (SR § R e ¥ SN0 IO o 8, H o (faha 3w
T faeRl FEd €1 g w9 H: -
Profit or Sales Margin Volume Variance = (AQ - BQ) X SR
4. T 27reT fasRa Ut TUSToT f=ruT (profit or Sales Margin Mix Variance)
w9 (fawa ST A RO B 9E A S Q) e QR e SRl F A
fosra e aﬁqm%m%zﬁqummafwéﬁ%swmm%ﬂ
fomr 3O (W) fagm fen wgam 31 4 w9 H:
Profit (Sales Margin) Mix Variance = (AQ — RBQ) x SR
Safeh RBQ = Total Actual Quantity of Sales x 5Q of Sales
, . Total BQ of Slaes
5, @y ( fersma 3urwr) SU-WEAT fereROT (Profit or Sales Margin Sub-yoluﬂ_:‘;g
Quantity Variance): 59 H7& IR N grafas fama S F A T IR A i
fopra 91 Fo W A e B @ 7@ (R 3T) S-w e g §1 |
Profit (Salés Margin) Sub-volume (Quantity) Variance = (RBQ-BQ) x SR
Verification:
(1) Total Profit or Total Sales Margin Variance:
— Profit or Sales margin Rate Variance + Profit or Sales margin Volu
(2) Profit or Sales Margin Volume Variance:
— Profit or Sales Margin Mix Variance + Profit or S
Quantity Variance.

me Varia"®
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Calculate Sales Variance from the following information:

Sales Budget For July 2020 | Actual Sales in July 2020
Number of units 15,000 14,500
ling Price (%) 60.00 62.00

Per unit Sel

Solution: Computation of Sales Variance
1. Sales Value Variance (SVV) = (AQ Sold x AP) = (BQ of Sales x SP)
= (14,500 x 62) - (15,000 x 60)
= 8,99,000 - 9,00,000 =¥ 1,000 (A)
2. Sales Price Variance (SPV) = (AP - SP) x AQ Sold
=(62 - 60) x 14,500 = 29,000 (F)
3. Sales Volume/Quantity Variance (SQV) = (AQ Sold - BQ) x SP
= (14,500 - 15,000) x 60 =T 30,000 (A)
Verification: SVV =SPV + SQV or 1,000 (A) = 29,000 (F) + 30,000 (A)
Mustration 2. {5 & wafwg frafafas g=medl /@ T $IRT (From the
following information about sales, Calculate): (i) Total Sales Variance, (ii) Sales Price
variance, (iii) Sales Volume Variance, (iv) Sales Mix Variance, (v) Sales Sub Quantity

Variance.

- Standard ~ Actual ‘
Product Units Rate ¥ Units : RateX
A 5,000 5 6,000 6
-B 4,000 6 5,000 5
C 3,000 7 4,000 8
Solution.
(i) Total Sales Variance = Actual Sales — Standard Sales R
A (6,000 x 6) - (5,000 x 5) =3 11,000 (F)
B (5,000 x 5) — (4,000 x 6) =3 1,000 (F)
C (4,000 x 8) - (3,000 x 7) =3 11,000 (F)

Total < 23,000 (F)

(ii) Sales Price Variance = (Actual Price ~ Standard Price) x Actual Quantity

A (6-5) x 6,000 =3I 6,000 (F)
B (5 -6) x 5,000 ' =3 5,000 (A)
C(8-7)x4,000 =3 4,000 (F)

| Total T _5.000(F
(iii) Sales Volume Variance = (AQ - SQ) x SP

A (6,000 - 5,000) x 5 =% 5,000 (F)
B (5,000 - 4,000) x 6 =% 6,000 (F)
C (4,000 - 3,000) x 7 =T 7,000 (F)

_ Total 18,000 (F)
(iv) Sales Mix Variance = (AQ - RSQ) x SP

A (6,000 - 6,250) x 5 =% 1,250 (A)
B (5,000 - 5,000) x 6 =% Nil |
C (4,000 - 3,750) x 7 =% 1,750 (F)

Total T 500 (F



RSQ (Revised Standard Quantity) is calculated as follows:
RSQ = Standard Quantity

Total Standard Quantity

x Total Actual Quantity

_5_%)2 15,000 = 6,250 units
12,000

= 4000 s ,000 = 5,000 units
12,000
3,000

= 2 % 15,000 = 3,750 units
12.000 -

(v) Sales Sub-Quantity Variance = (RSQ - SQ) x SP

A (6,250 -5,000) x5 . =% 6,250 (F)
B (5,000 - 4,000) x 6 =3 6,000 (F)
C (3,750 - 3,000) x 7 =3 5,250 (F)

. Total 317,500 (F)
Illustration 3. 314 fl??i fafes w® w8, 2020 % for Frefafaa b sw&ga S
S o ST fomd ST QR RRON @ TR 1 ST A
Abha Metal Limited provides the following data for the month of May, 2020 and
request you to compute Sales Variances by Sales Margin Method.

Budgeted Sales for the month - = 6,000 Castings
Budgeted Selling Price ‘ = ¥ 250 per Casting
Standard Cost of Sales - -= 3 180 per Casting
Actual Sales for the month - = 6,400 Castings
Actual Selling Price = 3248 per Casting
Actual Cost of Sales = T 175 per Casting

Computation of Sales Variance by Sales Margin Method

1. Total Sales Margin Variance = (AQ x AR) - (BQ X SR)

= [6,400 Castings x (¥ 248 —X 180)] - [6,000 Castings x (X250 - 180)]
= 6,400 Castings x T 68 - (6,000 Castings.x I 70)

—%4,35,200 — % 4,20,000 =¥ 15,200 (F)

2. Sales Margin Rate Variance = (AR - SR) x AQ

= (X 68 =¥ 70) x 6,400 Castings =¥ 12,800 (A)

3. Sales Margin Volume Variance = (AQ - BQ) x SR

= (6,400 Castings — 6,000 Castings) x ¥ 70 =¥ 28,000 (F)




